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BACHELOR'S DEGREE PROGRAMME/CES 

Term-End Examination 

December, 2014 

02482 
(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question no. 1 is 
compulsory. 

1. (a) Define the following terms : 	 5x1.5 

(i) Environment 

(ii) Autotrophs 

(iii) Community health 

(iv) Renewable resources 

(v) Waste minimisation 

(b) Fill in the blanks : 	 5x1=5 

(i) 	Bhopal gas tragedy, resulted as a 
consequence of sudden vaporisation 
and discharge of 	 
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(ii) Enrichment of a water body by 
input of organic waste containing 
nutrients, chiefly nitrates and 
phosphates is called 	 

(iii) Cancers similar to leukemia, 
leading to abnormal production of 
white blood cells by the spleen and 
the lymphatic system are called 

(iv) An interaction between two species 
in which one species benefits and 
the other species is harmed is called 

(v) Fossil fuels are derived from 
prehistoric 	and 	 
which were under the effect of 
intense heat and pressure under the 
Earth's crust. 

(c) Indicate whether the following statements 
are True or False : 	 5x1=5 

(i) Climate alone determines the 
ecosystem development in different 
zones of the Earth. 

(ii) Threatened species are those that 
are likely to become endangered 
species within the foreseeable 
future, throughout or in a 
significant portion of its range. 
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(iii) BOD test is used to assess the 
carbon dioxide demand in a water 
sample. 

(iv) The floor of the ocean is called its 
neritic zone. 

(v) Gobar gas which is largely 
methane, can also be generated 
from wood and straw, in specially 
built digesters. 

(d) Answer the following in one 
word/sentence : 	 5x1=5 

(i) The expression for the increase 
in number of new-born individuals 
in the population. 

(ii) The ability of a human ecosystem to 
allow withdrawal of resources 
without causing lasting damage to 
environment. 

(iii) Pollutants that directly enter the 
air as a result of a natural event or 
human activities. 

(iv) Disease caused by inhaling dust of 
certain types of pollutants of size 
ranging from 0.5 — 5 [tm. 

(v) The pollutant gases responsible for 
acid rain. 
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2. (a) How are the High Yielding Varieties (HYV) 

obtained and how can their cultivation be 

harmful ? 

(b) Discuss the interrelationship between 

culture and environment. 5 

3. (a)  Explain 	how 	desertification 	and 

deforestation are interlinked. 4 

(b)  Describe in detail the two types of remedial 

measures that prevent land degradation. 6 

4. (a)  Briefly discuss the need for environmental 

legislation. 4 

(b)  Diagrammatically 	illustrate 	the 

Population, Resource and Pollution model. 

Discuss the positive feedback loops and 

negative feedback loops of this model. 4 

(c)  List any four methods for improving land 

quality. 2 

5. (a)  Discuss the reasons for wildlife extinction. 6 

(b)  How do improperly deposited hazardous 

waste substances in the landfill find their 

way to the human body ? 4 
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6. (a) What are communicable diseases and how 

are they transmitted ? 	 6 

(b) How does excessive use of fertilizers cause 

environmental degradation ? 	 4 

7. Differentiate between the following pairs of 

terms : 	 5x2=10 

(a) Aquatic ecosystem and Terrestrial 

ecosystem. 

(b) Hydroelectric and Thermal energy 

production. 

(c) The law of minimum and The law of 

tolerance 

(d) Biosphere and Parabiosphere 

(e) Waste water reuse and Waste water 

recycling 

8. With the help of a diagram, describe how 

nitrogen enters the biosphere through the action 

of algae and bacteria. 	 10 

9. Describe in detail the steps followed for the 

primary treatment of sewage. 	 10 
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10. Write short notes on any two of the 
following : 	 2x5=10 

(a) The effects of ionising radiations on human 
health and on all living organisms 

(b) Urbanisation and environment 

(c) Chipko Movement 
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